
 

 

Trigonométrie dans le triangle rectangle 

 
Placer ci-dessous :  

• hypoténuse,  
• adjacent à x,  
• adjacent à y,  
• opposé à x,  
• opposé à y  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Compléter :  

• cos(𝑥)' + sin'(𝑥) = 

• 𝑥 + 𝑦 + 90° = 

• 𝑥 + 𝑦 =  
 

SOH 
 

 

sin(𝑥) =
𝑜𝑝𝑝𝑜𝑠é

ℎ𝑦𝑝𝑜𝑡ℎé𝑛𝑢𝑠𝑒 

 
 

 
 
 
 

CAH 

	
cos(𝑥) =

𝑎𝑑𝑗𝑎𝑐𝑒𝑛𝑡
ℎ𝑦𝑝𝑜𝑡ℎé𝑛𝑢𝑠𝑒 

 

 
 
 

TOA 

 

tan	(x) =
𝑜𝑝𝑝𝑜𝑠é
𝑎𝑑𝑗𝑎𝑐𝑒𝑛𝑡 

 

 
 
 



 

 

 

cos(𝑥) =
𝑎𝑑𝑗
ℎ𝑦𝑝 𝑥 = cosAB C

𝑎𝑑𝑗
ℎ𝑦𝑝D 

sin(𝑥) =
𝑜𝑝𝑝
ℎ𝑦𝑝 𝑥 = sinAB C

𝑜𝑝𝑝
ℎ𝑦𝑝D 

tan(𝑥) =
𝑜𝑝𝑝
𝑎𝑑𝑗  𝑥 = tanAB C

𝑎𝑝𝑝
𝑎𝑑𝑗D 

 
 
 
 
 
 
 
 
 
 
 

𝑥 =	
𝛼 = 
𝛽 = 

 
 

𝛼 =  
𝛾 =  

 
 
  
  

𝑥 =  
𝛽 =  
 
 
 
 


